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Determine the equation of the & Mg gaali) e f () =257 ANl Al S
function f(x) = -5". after being Jad A al.n_»jé 9 bl gt clasg 4
| translated 4 uhits left and 3 units
down.
k
O f(x)=5**3-4 a

O f(x)=5%"-3

Lo

O f(x)=5""-4

O f(x) =5 -3 | :
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Use the parent graph of f(x) = Inx 30 L) Al Sl NECW By

to find the equation of the function  .'g(x) 4l dalea Y Jagll f(x) = In x

g(x). \
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O 9() = -In(x + 3)

O g(x) =In (x +3)

g(x) = —In(x — 3)

O gx)=In(x-3)
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Which of jﬁ'é'fo!lowing functions has
a jump discontinuity at x = ¢?
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Write a sinusoidal function with the
given period and amplitude that
Passes through the given point.
period: ;1
amplitude: §
5

point: (= —)
6'2

-----------------------------------------------------------------------------

® y=S5cos2x

--------
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Write a sinusoidal function with the dauddly 3y gl aladicels Luua dlly LS)
given period and amplitude that .3laeal) 4330 Bt oLl opienaall
passes through the given point. T 5
period: 5 del)
T S5\.-
itude: 5 X2 )dkam
amplitude: 5 (6’2) alezit

point: (%,-‘;1)

5 T
O y=2 cos—
) 2 cosﬁx

O y =2cos5x
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Evaluate the logarithm: s e st a2

log;V49 log,V49
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